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m Appendix I = .Answers to Selected Odd-Numbered Exercises, Review Exercises, and Review Tests

55. a. 0.25 b. — 0.6

11. 9.37 13. -9 15. ;;- 17.0
! c. 0.769230769  d. 0.285714286 19 b 21, —20y° 23 _ 3yt
57. 35 miles 59. 4 feet and 6 feet 25 a1 b. 100,000,000
61. 13 ounces 63. $256.10 -~ 4 7
58 $10:652 27. ¢ d 29. 2,3 31. %;4
33. 3 35. 4 37. 11 i
Exercise Set 1.2 39. 176.20 41 %ﬁ
1. -4 2 0 2 4 43. cost of all purchases 45. Sx + 3

; : : 2. ' — : : 1 =3.5

3. AL, BRSSO 2, D28, 030, B 47, 288 =32 + 28t + 32 + st —s + 24— 3

5. 4 7. =2 9, -5
L = o R

11. 0123456789

49, = 24*bc + ablc — 2ab*+ 3

51. - 25 +4°3 -+ +4x—4

13. 2345867 54 (8 =@ T1s 6
15. 10 = 9.99 17. a =0 19. x>0 55. _,4},5_2},4.*.23,3_53,2_3),
1 1
21 g <a<y 23 bz3$ 57. 445 — 164 + 14a> — 3a* — 14a + 15

25. multiplication by negative number or addition 59. 3b* + 3ab® + 2b° — 7ab? + 20 — 4ab — 6a

preserves the inequality sign 61. —6x2+22x—12  63. 98x — 38y — 20z
27. multiplication by negative number 65. x2+ 2x —3 67. 4x*+ 8x + 3
29. multiplication by positive number 69, 3x2 — Sx +2 71. x2 4 2xy + 92
31. 2 33. 1.5 35. -2 73. 92 — 6x + 1 75. 4x* — 1
37. 1 39. 4 41. 2 77. &t + 2yt +
1 2
43, = 4s5. 3 47. 2 2 2 3 b2
5 4 wixr  Qwxz !
g _ 81. a. i 1 b. - 2
4% = 51, when x and y have the same sign Y y :
3 e xt+yt =22+ 2xy
53. {-2,-1,0,1,2,3,4,5,6,7, 8 L
83. Eric ;
55.a.1<7 b. —6<0 c. —2<10 E
1 s 85. a. 392 b. 96
L £ =g%4 c. 16777216  d. 4,294,966,528
g 1<25
57 L 59. =2 61. 0 E
T2 ’ ' Exercise Set 1.4
2
63. a. x =3 b. ng 1. S(x—3) 3. — 2(x + 4y)
5. Sbic+5) 7. = y43 + 4y%)
Exercise Set 1.3 9. 3x3(1 + 2y — 32) 11, (x + 1)(x + 3)
1
1. 0 3. -8 5 2 53 13. (y = 3)(y - 5) 15. (a — 3b)(a — 4b)
9. a.$2160 b. $2080 c. $2106.67 17. (), " %)(y + %) 19. (3 - x)(3 + x)
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LIl Appendix I = Answers to Selected Odd-Numbered Exercises, Review Exercises, and Review Tests

13. x¥ 15. —32x10 17 %0 67. 3+4V3  69. 3xy 71. 5-2V6
|
ik 3048 ‘ 33 <\
19. 3 21. 30x 23. 1 73 Bpeidy NGy 75. —£—~7——)
25. (%) 270 (2x 4 1)10 29, 2nginpsn L, 24+ V3) 9 -33Va-1)
4 ' 13 T 9g-1
31, 3 33, 3 35. 81 " ~ 365 -V5y) 83 342v3
37. — 3 39. 6 41. 25 55 -y) '
1 1 5 2
43 w5 gress 4%, 3P 47. 32 85.2+ V6 +3V2+2V3 87 ——————
ey W% 3 VIZ + V10
-1
a*be 8y' 89.
49. 2x%y 51. 5 53. g Vy+ 4
-1)2 A/ Z
5 _59_ 57 44106 %5 1 95. a. x' -(x ) c. —1;—-—-
© 3 T T ; ”5
- b)? d = ., —
61, L0 G, 21 67. 0.074 5 MO T
a+b b-a )
69. 0.0113 71. 9.1 x 10° 73. 2.3 x 10! &5 V Leygy (¢p + ;)
? 27 (e, + )

75. 8.0 x 10+ 77. 0.000893 79. 145,000

81. 0.001253 83. 3.05 x 1073
B 9 Exercise Set 1.8

85. 1.67 X 10* persons per square mile

S 1. 1 3. —i 5. —i
87. a. — b. a(l +r+ * ; 3m
i g arEwtE) 7 i 9. i 11. -%+0;‘
d. 64 . 4 %1013
¢ + 13. 0+ 51 15, 0 =i 7. 3=%
19. 03-7V2i 21. —2-4i  23. x=%,}r -8
Exercise Set 1.7
9
1. 8 3, LG 5. 2l 25 x=-ly= -3 27. 3+i 29. 5+
1
1
7 5% 9. xiyi2 1. % 31, -5 — 4 3. 2-6 % A
y
1 - 37. 5+ 0i 39. 2 + 14i 41. 4 - 7i
5 4 3 X
13. V1e 15. V& % Y=y 43. 5 45. 25 47. 20
B 13 11 7 24 g 9
3 174 e R c A S 1 M .
19. g4 21. (—8)~% 23. (f;_) 49, 104—10: 51. %5 25{ 53 3 5!
2 12, s .8, e R F
25, = 27. not real 29. 5 5. 3731 5. gtgi 59 geeaei
5
S 9 3
3L 5 33. 54.82 35. 3,4 61 =+ 63. 0+1; 65. 0 .
3 3 e
37. 4V3 39. 3V2 41. y¥Vy 67. 3 75 y=5 E i
43. 22VEVx 45, PV 47. 239Vy
Vs Vi3y 5 ;
49. S5 51. T3y 53. 2xV2x Review Exercises '
55. AVl 57. 7V3 59. 7Vx 1. {1,2,3,4 2. {=3,-2,-1} 3. (2}

61. 4\V3 63. 11V5- V5 65 -5V5 4. T 5. F 6. F




